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QUESTION :

Calculate the normality of the solution obtained by mixin

(i) 100ccof0.2 NH,SO, with 50 ccof 0.1 N HCL
(ii) 100 cc of 0.1 N H,SO, with 100 cc of 0.2 N NaOH.
(:i1) 100 ccof 0.1 M H,SO, with 100 cc of 0.1 M NaOH.
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QUESTION : A\ 4
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Theof 0.1 N NaOH required to neutralise 10 mL of 0.1 N

phosphonic acid is .................

A S—————n
[JEE Main 2020, 3 September Shift-1I}

= g2 f b = g o

I

LAKSHYA KO HAR HAAL ME PAANA HAI




QUESTION:

It 0.1 mole HSPOx s completely neutralised by 5.6 g KOH then select the

true stateme
————————————————

(a) x =3 and given acid is dibasic H 3 F 02

(b) x=4 and given acid has no P-H linkage
M = 2 and given acid does not form acid salt \)/
(d) All of these

&

I LAKSHYA KO HAR HAAL ME PAANA HAI
















